ADAPTER DRAWING & PARTS LIST
For Adapters with Skid Steer Connection

Belleville
Washers

o N 09

|2
1|

7

: AN A
o s

10

NOTICE: Some adapters with the "Universal" Skid Steer connection have 5/8" concave"Belleville"
washers to provide tension on the latch handles. Other adapters have a compression spring to
provide tension on the latch handles. These parts are NOT interchangeable. When ordering
replacement parts, check to make sure the correct parts are ordered.

Re-| Part No.| Description Rogd.
1] Main Frame Weldment (not available as repair part) 1
2 | 832586 Lever, Right Hand (0.891" Dia. Hole) w/Springs

832546 Lever, Right Hand (0.656" Dia. Hole) w/Belleville Washers
3 | 832587 Lever, Left Hand (0.891" Dia. Hole) w/Springs

832547 Lever, Left Hand (0.656" Dia. Hole) w/Belleville Washers

831988 Lever (for 831980 only)

4 | 832565 Lockpin, Plated
5 | 832566 Spring Rod Weldment
6 | 832567 Spring, Skid Steer Latch
7 | 832589 Spring, Adapter Lever

2502024 Washer, Bellevilie 5/8"
8 | 832593 Block, Snap Ring Pivot
9 |2503134 Bolt 5/8"-11NC x 3" Hex Head Gr. 5 (w/Springs)

2503152 Bolt 5/8"-11NC x 2" Hex Head Gr. 5 (w/Belleville Washers)
10 | 2501044 SAE Flat Washer 5/8"

11 | 832588 Bushing, Adapter Handle

12 | 2503338 Bolt 7/16"-14NC x 1" Hex Head Gr. 5

13 | 2501007 Flat Washer 7/16"

14 | 2504280 Retaining Ring 5/8"

15 | 2504266 Roll Pin 1/2" x 1 1/4"

16 | 2504004 Grease Zerk 1/4" Drive

NININININDINININDININIOINDINININDIN[ 2=~




